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But this avw is not similar, etc. — 9912 ROV N7 M7 K° KT

OVERVIEW

The Xn»™2 stated that the husband writes the w1Tp WWw. The X
challenged this ruling for we find by a 77°0n VW that the 73pn (the seller, not
the buyer) writes the 2vw; how is it that by w1 7P the acquirer writes the
7ow. Our MdoIN explains why the X773 did not challenge this ruling from 3
instead of from a 77°0n WW.

mooIn resolves an anticipated difficulty:
—'mwpny 195 750 XY VI

And the X ) could not have asked from 3. Seemingly instead of asking that
TR W is not similar to o» W the XA could have asked that PR “0W is not
similar to a vx. By a v3 the one who is 71pn writes the “vw, and by w1 7P the one who is
1P writes the 0w,

The reason this question was not asked is because -
:31"1 33 M Yyan V) NPT VIY POV T TNN 18T

In a certain sense a Y1 7°p VW is indeed similar to a v3; for just as by a

v3, the husband writes it (in 7''92) [alone], similarly a Pw TP 0w is written by
the husband [alone].

SUMMARY
A PWTRP W is similar to a vi since both are written by the husband (even
though that by 1v17°p2 he is the 71 and by 12173 he is the 71pn).

THINKING IT OVER

Why does the X3 ask that PwI7°p W is not similar to 75 WY (since by
YR the 11IpP 1s writing it); it 1s not similar to 70» VW because it is derived
from v3, where the husband writes it, therefore by 12172 the husband also
writes it.*

" The advantage of asking from v (over 77°» 7wWw) is that PwI1Tp W is derived from vi. One would
therefore expect the two N1V to be similar.

2 Therefore since WP W is derived from a vi it is understood why the husband should write the -ww
w17p. See ‘Thinking it over’.

? The n"a deletes 7"*2 and inserts 172.

* See 1"nx footnote # 181.
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